‘NAN'HUA PRIMARY'SCHOOL
CONTINUAL ASSESSMENT 1 - 2015.
~ PRIMARY 5
MATHEMATICS _
Paper1 ‘
Section A: 15 Multiple Choice Questions { 20 marks )
Section B: 15 Questions ( 20 marks)

Total Time for Paper 1: 50 minutes

INSTRUCTION TO CANDIDATES

1.. Write your name-and:index number in thespace provided:

2. Do not turn over the page until you are told to do so.

3. Follow all instructions carefuily.

4. Answer all questlons.

5. Shade your answers in the Optlcal Answer Sheet (OAS) provided
for Questions 1-15.

6. You are not aliowed to use the calculator for Paper 1.

Marks (_)btainéd

Paper 1 140

Paper 2 ! " . 160

Total: ‘ 1100

Name: i (
Class :

Date : 2 March 2015 Parent’s Signature :




Section A (20 marks)

.,.

Questions 1 to 10 carry 4 mark each. Qﬁeéﬁ_bné 11 to 15 carry 2 marks each. For
each question, four options are given. ©ne-of them is the correct answer.
Make your choice (1,2, 3 or 4) and shade on the oval (1 2, 3 or 4) on the Optical

. Answer Sheet. IR _. v
1. Which one of the following numbers h_ag__a digit ‘1’ in the ten'thousands place?
(1) 145607 |
(2) 231980
(3) 475318 _
(4)

713 520

2. Which oné of the following numbers is 1000 tess than200 0007

e}

2

(3)
4

3. Whatis the value of 18 + 120 +(3 x 2)/?

M
)

@

)

100 000

190.000-

199 000
199 900

23
38
92
o8



What is the missing-number in the box below?

880 324'<°600 000+

(1)
€4
3
(4)

800
8000
80.000 .
800 000

B

Which one of the following tells the same time as 10 minfondon?

(1)
)
-
(4)

11.50 am.
11.50 p.m:
12.10.a.m.
12.10 pim.

\

What fraction f the figure below is shaded?
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.29

38

87 |
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10.  Study the figure:below. What:is'the least nurnber of squares that rust be shaded
such that AB is the line of symmetry of the figure?

A
n_ 1 —
(2 2
3 3
4 4

11.  Sam's father gave him some money. He spent half the money on the first day. He
spent half of the remainder on the second day and had $12 left. How much did
Sam’s father give him? . - :

(1 $12 ;
2 %24 | ‘
3 $36 .

4 $48 :



12., . The line.graph below shows the volume:of water in a container"oir’é‘r--avaéhbur
peﬁ()d. . . ;.-', B . < e, To. ) : - B

i8
16
14
n
g 12
£10
E 8
§ 6
4
2 ’ i) e
0 - ] 2 J J p o -~
1pm. 130p.m. 2pin.- 230 pm. -3pum. 330pm. 4pm.
) Time

For how long were there at least 8 litres of water in the container?
(1)  1h 30min

(2 2h
3 3n

-

(4)  2h 30min

13, The table below shows the price of some equipment in a sporis shop. .

.Equipment Price

-Badminton racket' . 1979

‘Football. - %58 .
‘Rollerblades -$149

John went to the shop-and bought a-football and a badminton racket. .
Round off his total spending tothe nearest $10.

(1)  $130
) $140
(3) $280
(4) $200



14.

15.

Maly boubht 3 m of clo_th.". She used % m.of cloth to make a skirt for her-.&al}ghter.

She used another % m of cloth to make a shirt for her son. How much cloth did
she have left?
3
1 —m
(1 ol
7
2 —m
2 1 1
@ 2lm
5
7
4 —m
4) 410

The perimeter of a }ectangle is 60 m. The length of the rectangle is twice its
breadth. What is the area of the rectangle? ) '

(0

@
3
(@

200m?

400 m?

- 450 m?

800 m?



ks

Section B (20 marks) :

Questions 16 to 25 carry 1 mark each. Questions 26 to 30 carry 2 marks each.
For-gach quéstion from:26-to 30; show.y6iir workings'clearly inthe space below it
and write your answer in the space provided, Give your answers in the units

;IB. Wirite 1 040 014 in words.

) Ans:

17.  Whatis the product of 8Q and'500?

Ans:

18.  The price of a car is $125 000 when rounded off to the nearest $100. What could
" the Iqwegt_ possible price of thecar be in whole numbers? _ '

Ans: $

19. 48.32+8=

Ans:

20.  Using the digits-given below, form‘the smallest 4-digit number that can be divided
by 5 without any remainder. Each digit can be only used once. .

o] [2] [5] [8

Ang .




21.  John is facing south-east now. _ . |
He makes a % - turn clockwise. In which direcﬁon is he facing in the end?

e

Ans:

22. Find the missing number in the box below.

49 x28=} ?

x28—-15%x28

AﬂSZ-

[T

8

.23, Add22and.g3

3 . Give your answer as a mixed number.




24. How ij'rlhfriy'm'inutés are thefe in 4%_h'ou'rs? B

Ans:- min

25.  How many common factors do 28 and 42 have?

Ans: ;L

- 26, Study the pattern of letters below. How many ‘P s are there if there are a total of

107 letters in. the- pattern?
NHPSNHPSNH P.S
1st.




37 Ali'and James chllected” 742 stickeis altogéthér.” After All boughit another 25
stickers and James bought another 53 stickers, both had the same number of -
stickers. How many stickers did Ali have at first?

Ans: stickers

28. Meihué__z hgd-“a total of 16 oranges and pears. After she exchanged every pear for
3 oranges, she had 30 oranges altogether. How many pears did she have at first?

Ans: pears

10



29. -.Thefi igure below.is not drawn 1o scale. Gwen that all the hnes meet at nght angles,
_ f‘ nd nts _perimeter.. s

A
10 cm ' ‘ .
]3 cm
r—
s 29 em -
Ans: cm

30. - A bug“t-':a:n'-'t‘:a_r'ry-at:-md“st"42-r'adhlts'.-‘or»63 children, There are already 45 chnldren on
. the’l__:'u‘s; How many adulits can still get'on the bus? '

Ans: adults

— End of Paper1 --
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INSTRUCTION TO CANDIDATES

1. Write your name and index number in the space provided.
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4. Answer all questions and show your workings clearly.

5. You are allowed to use a calculator.

Marks Obtained
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Questions 1to 5 carry 2 marks each. Show your workmg clearly in the space
provided for éach queshon and’ wrife your dnswers'in ﬂxe spaces provided.
For quéstions which reqtiire units, glveyour answers in‘the units stated.

'[10 marks] -

1.

3.

Arrange the following numbers in increasirigﬂ order.
973851 937518 985 317 : 931875

i

Answer: . § ' Ly §

[2]

" A shopkeeper had just enough boxes to paék 1375 peﬁeils into boxes of 11._

If he wanted to pack all the pencils into boxes of & mstead how many more
boxes does he need? :

Answer: 7 2
There were 365 bails ln Basket A and 173 balls in Basket B. Some of the balls
were transferred from-Basket A to Basket.B-until each basket had the saime
number of balls. How many balls were transferred? :

Answer: _ 2

Do not write
in this space




4 AL plece of..paper. . measures. 21 cm by 17 om. Two csrcles of . area
~38.5 em? each are cut from lt What |s the area of the p:ece Df paper that is

left?
29em

v

e
Y k .

5. Some-boys:were standing along.a. straight ling at equal distance apart. The .
.distance between. the ‘lhll—’d and- the fifth. boy. was 10 m. Harry was 60 m_ from

147 cin

Answer: cm? [2]

the first boy. At which posmon was Harry standirig?

T

Answer: 2]

Do not writ

. in this spac




e j‘For queshons 8 iao show you “worki '"g.clearly in the space prov:ded for
* “each question and’ write your answers'in the s spaces provided: °

. The number of marks available is shown in the brackets | ] at the end of
each queetaon or part question. Include units whenever posslble [50 marks] .

.6. A blue pole, a yellow pole and a red pole were pla_'_ced side _by-side. The total
" length of the three poles was 8% m. The yeﬂow pole was’ 1% m shorter thah

the red pole. The red pole was 2-31— m longer than the blue pole. What was the

Iength of the red pole?

Answer. _. [3] .

7. Jdan has $370 moié than Ruth. Affer Jan'g_’wes Riith $65, Jan has: 4 hmes.as';

much rioney a8 Rith: How much mene____ dOes Ruth have at ﬁrst?

Answer: 3]

Do fiot write

- 1+ in this space




/
It
g

“'B The total age 6f Mfs:Lim aiid her dalughter is 34; In4 years' fime, Mrs Limwill | Do notwrt
be 5 tlmes as old as heér daughier How ofd is her daughter now? in this spa

o

,
[ia)
L

Answer: . 81

9. Mrs Ng bought 3 kg of flour. She used % kg of the flour to bake a tart. To

. bake a cake, she used % kg more flour than what she used for the tart. How

much flour did Mrs Ng have left after baking a tart and a cake?

Answer: f3]




10. Miss Ho bought some candles She divided the candies equally among a
cla§s of .32: children. 4-of them gave alltheir candies fo. the rest of the.
children. As a result the rest of the chlldren recelved 3 friore candtes each
How many ca candigs did each’ chlld receive at fi rst?

Answer: [3]

11. Mr Wong bought 5 kg of beef and 2 kg of mutton. He used the same

/

’ amount of beef and mutton to cook- dmner ‘The amount of beef left was
3 times the amount of mutton left. How much of each type of meat was used?

. Answer: 41

Do not write
in this space




o I ‘ 2 ‘child.”Hol UC! - Db notw-r"
was'the tlcket for an: adult'? T ©° 7] in‘this spac

Answe'_c 4]

13, 2 sifillar wallsts arid 3 'simil
5 similar wa!lets and milar watches cost $701
How much dogs a wallet cost? -

Answer, {4}




14

-,;-stjckers. she would have 3 shckers left if she ‘gave each pupll 9
‘would be short of 5 stickers.

15.

Miss Tan wanted- to gNe some stickers to her pupils, If she gave each pupll 7
stlck 'r§, she

(a) How many pupils were there?.

(b) How many stickers did Miss Tan have?

Answer: (a) _[31

() 2

John, Kevin and Larry had 216 game_ cards altogether Kevm gave“ '
his game cards to John and John s.gamé’ ‘cards were’ ‘tripléd. Th"‘ A Jo

some of his game cards to Larry and Lamry’s game- cards’ weré fnpled Atthe |

end, the three boys had-an equal number of game cards each. How many
game cards did Kevin have at first?

Answer: ' 4 1}

Do not Write

Tin 'lh}S space




16 The pattems b below consist of shaded and unshaded squares.

Study thé patterns Sarefully befors's answenng the questlons o 1 Do notwrit
. ) T in.this spac

Pattern 1

Pattern 2

Pattem 3

Pattemn 4

(@) What fraction of the total number of squares are shaded in Pattern 6?
(Give your answer inthe SImplest form)

(b) What is the total number of squares in Pattern 127




-17..-.Noel had 4 times asmuchmoney as PeterMm NPEIhaCJSPem%”“ . QQ;DOi ‘;V:ﬁfe
*- #Peters money became 3 times as much as Noel's. ' in this space

- (a) How much did Noel have at first?

(b) H_ow much more money did Noel have than Peter at first?- .

Answer: (a) .[3]

S , o (b) [2]




18. Sitistarted a sa\i’i.ngs plan by putting a coin in a money box every déy. Each
coin is either a 20-cérit coin or 50-cent coin. Her mother also putina $1coin | Do notwri
in the box every 5 days. The total value of the coins after 68 days is $34.70. in this spa
(a) How many coins were there altogether?

(b) How many of the coins were 20-cent coins?

Answer: (a) 11

(b) [4]

- End of Paper -
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LEVEL : PRIMARY5
SCHOOL : NAN HUA PRIMARY
SUBJECT : MATHEMATICS

TERM : CA1l |
Q1 Q2] Q3 ] @4 | @5 1 @6 | Q7 | @38 |- @9 | Q10
4 3 | 2 3 | 1 3 3 4 | 4 3
Q11 |Qi2] Q13 | Q14 | Qi5
4 4 2 1 1

Q16. One million, forty thousand ’and fourt_e;en
Q17 40 000
Q18. $124 950
Q19.6.04

QZO. 2085

Q21. North East
Q22.64
Q23.9%
Q24.280 min=2> 4 x 60 =240, 60 + 3 =20, 20 x 2 = 40,40 + 240 = 280

Q25. 4-> factors of 28:1, 2,4, 7,14, 28, factors of42:1,2,3,6,7,4, 21, 42
026.27> 107 + 4=26R3,26 + 1 =27

Q27. 385 stickers=> 820+2=410, 410-25 =385

Q28. 7 pears

‘| Assume that she had 16 pears left

16x 3= 48 €No. of oranges exchanged
-48—-30=18 -

18+2=9€No. of oranges at first.

16 - 9 =7 €No. of pears at first.

Q29.86cm=>» (10+29)x2=78,4%2=8,78 + 8=86

Q30. 12 adults.
63-45=18

18 2

63 7
42+7=6,6x2=12.

Get PSJ Private Tutor to Guide you through Exams Now!
Contact www.privatetutor.com.sg




Q1.931 875,937 518,973 518, 985 317

1 Q2.150 -
1375 +11=125
1375+5=275
275~-125=150

Q3.96
365+ 173 =538
538:2=269
365-269=96

Q4.280cm?
| 21x17=357
38.5x2=77
357-77=280

1Q5.13® -

5~3=2 —
10+2=5

60+5=12 (gaps between)

12+1=13 °

- Q6. 4m

| Let'R"be red, ‘Y’ be yellow and ‘B’ be blue
R=2y+1¥%m

R =2B+214m

8=m-+ 1% + 2%m = 12m
112m+3=4m

{Q7.315

| $370-$65 = $305
$305-$65=$240
$240+3=$80

| $80-$65=$15

Q8.3

34+ (4x2) =42
42:6=7

7-4=3




Q10.21
132-4=128
28x3=84 .
84+4=21

Q11. 1%kg

2 units 5% - 2%e-= 2%
1 unit 134
2¥2-11k=1%

Q12.$79.80
6x2=12

12+15=27

$1077.30 +27=$39.90

$39.90 x 2 = $79.80

Q13.$53

Let X be wallets and Y be watches
2x + 3y =$433

5x + 4y = $701

7x +.7y = $701+$433=$1134

X +y = $1134:7=$162

| 4x+ 4y =$162x4 =$648

| X= $701 - $648‘;= $53

| Ql4a. 4 (5+3) = (9-7) =4

Q14b. 31 4x7+3=31,4x9 - 5=31

Q15.152
216+3=72,72+9=8

1 unit=>» 8

14 units >9x8=152




Ql6a.—
Pattern 6, total 6 +9+11=36, °

Pattern 6 shaded 6+4+5=15,
15 -5
36 12

Q16b.144 .
1,4,9,16, 25, 36,49, 64, 81,100,121, 144

Q17a $4488

11 units=>» $4114

| 1 unit>$4114 + 11 =$374

12 units=> $374 +$4114=%4488

Q17b.$3366
9 units=> $374 x 9 = $3366

Q18a.81
68x1=68
68:5=13R3
68+13=81

Q18b.41

-$34.70 - $13=$21.70
Assume all coins are 50cents
68 x 50¢ = 3400¢
$21.70=2170¢

3400¢ - 2170¢ = 1230 units
1230¢ + (50¢ - 20¢) = 41

THE END




10.

11.

Which of the following are:palfs of perpendicular.ines?

C
A ~. |~ [E
=X ™
\ AN
\
\\ W4
H G

(1) AB and BC
(2) AH and HG
(3) EF and FG
(4) CD and EF

What is the value of (84+7) + 7% 6 —:3%

(1) 33
2) 51
(3) 57
@ 111



12.  What is theslength 6fthe perras shown in the figure below?

B B T N
0 1 2 3 4
(1) 24cm
(2) 28cm
{3) 34cm
4) 3.8cm

13. A strip of ribbon measuring 26'm was cut into 3-equal-pieces. ‘Rourid-off thelengtte
‘ofeach:piece to*2:decimal-places:

(1) 0.80m
@ 0.86m
(3) 0.87m
(4 0.90m

14.  Chris had feur20-cent coirs and two:50:cent coinsin his pocket. He took out two
geins from his pocket and put them into a donation tin. Which of the following
amount eould-notbe his total donation?

(1) $0.40
@ $0.70
@)  $0.90
4) $1.00



16, -Alex, Beth and Gharles shared a sum of money. @harlessreceived four.times: as
much; morigy-asBettrand $8-lesstthan Alexe [f-€harles received $$16; find thestotal

amount-of money they had.?

(1)  $28
2 $36
(3) $44
@) $48

(Go on to Booklet B)
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